3 (Sem-5) BOT

2019

BOTANY
( General )

( Structure, Development and Reproduction in
Flowering Plants }

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

* 1. Answer the following questions/Fill in the
blanks : 1x10=10
TIR PIRA Te TRl /A1 87 o9 70 ¢
(a) What is fibrous root?
QT %7
(b) Give an example of tendril developed
from leaves.

TS *[1 Y (XA WFH b1 A3 fa o
{¢) Grass is an example of meristem.
C R S FAR A |
(d) Who proposed Histogen theory?

38’ ce ©g (I AR ?
(e} What is metaxylem?

corRCe ¥ 2
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(2)

{) What is cambium?

R &2

(g9 What is tapetum?
CBesibm 6 2

(h) What is the main function of lenticels?
o [ I 2

(i) Hypophysis is present in __.
IIRRR © T |

() Why do fruits spoil after ripening?
o Afdce 78 = 492

2. Write short notes on : 2x5=10 ~

12 COreT foran

(a) Hydathode
FRTINE

(b) Bark
Il

(c) Cutting

I L

(d) Suspensor
LT

(e} Nectar
T
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(3)

3. Write notes on any four of the following :
5x4=20
@] R e SRR soe Gt for

(a) Types of seed
A AR

(p) Dicot and monocot vascular bundle
feTweidl wF AR S I T

(c) Sclerenchyma tissues and its function
CRETRIA I AT W I

(d) Parts of ovule
o5 PR

(e} Functions of xylem and phloem
G O #7991 LR

4, Answer any two questions : 10x2=20
R T o1 o Ty o

(a) Describe the development of secondary
growth in dicot stem with suitable
diagram. 10

fawed SR eI M1 I Rvw Tome
R i 361 70

(b) What is periderm? Describe the primary
structure of dicot and monocot stem.
2+8=10

g 7 RRAE@ 9% FRNeA SR
F1eT AT I T 8T I 791 |
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(4)

(c) Write notes on diversity of plants and

stomata. 5+5=10
Tfews Rfbael wre “qwms 8RS G ford |
S. Answer any two questions : 10x2=20
R ot 9 epe ew fora

(a) Describe the process of megaspore
formation and development of female
gametophyte in Angiosperm with

suitable diagram. 5+5=10
QAN e R oo ¢ Howw @S
R Recy o oo 36 741 |

(b) What are the factors affecting
germination? Describe briefly the types
of fruit and the process of fruit
maturation. 2+4+4=10

? R TR WFAR @[S FOR T 7 TR
UPR BIF (TS (TR &S TLF 3691 311 |

(c/ Why are reproductions in plants
necessary? What are the benefits of fruit
dispersal? Explain the properties of

wood. 2+4+4=10
TN o R AeTEn WIR? ¥ REmd
oS fF 7 9T 439 Racy 361 71 |
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